

ASSESS Final Solution Analysis
 15/04/04/00
 Elect - Elect.

ASSIGNMENT 5

$$\frac{dy}{dt} + 3y = e^{-2t} \quad \text{at } (0, y = 2)$$

$$L\left(\frac{dy}{dt}\right) = sY(s) - y(0)$$

$$L(3y) = 3y(s)$$

$$L(e^{-2t}) = \frac{1}{s+2}$$

$$sY(s) - y(0) - 3y(s) = \frac{1}{s+2}$$

$$sY(s) + 3Y(s) - 2 = \frac{1}{s+2} \quad \text{so } (s+3)Y(s) = \frac{1}{s+2} + 2$$

$$(s+3)Y(s) = \frac{1+2(s+2)}{s+2}$$

$$(s+3)Y(s) = \frac{2s+5}{s+2}$$

$$Y(s) = \frac{2s+5}{(s+2)(s+3)}$$

$$\frac{2s+5}{(s+2)(s+3)} = \frac{A}{s+2} + \frac{B}{s+3}$$

$$2s+5 = A(s+3) + B(s+2)$$

$$2s+5 = As + 3A + Bs + 2B$$

$$A + B = 2 \quad \text{--- (1)}$$

$$3A + 2B = 5 \quad \text{--- (2)}$$

$$\text{eqn (2)} - (1)$$

$$B = 1$$

Find the Laplace transform of $y'' + y = \sin t$ with $y(0) = 1$

$$y'' + y = \sin t$$

$$y(0) = 1$$

$$L\{y'' + y\} = L\{\sin t\}$$

$$s^2 Y(s) - sy(0) + Y(s) = \frac{1}{s^2 + 1}$$

$$Y(s)(s^2 + 1) = \frac{1}{s^2 + 1} + 1$$

$$Y(s) = \frac{1}{(s^2 + 1)^2} + \frac{1}{s^2 + 1}$$

$$Y(s) = \frac{1}{s^2 + 1} + \frac{1}{(s^2 + 1)^2}$$

$$Y(s) = \frac{1}{s^2 + 1} + \frac{1}{s^2 + 1} = \frac{2}{s^2 + 1}$$

$$y(t) = 2 \sin t$$

$$y(t) = 2 \sin t$$

$$y(t) = 2 \sin t$$

$$y(t) = 2 \sin t$$

$$2 + 3(s+1) \Rightarrow A(s+2)(3s-6) + B(s-6) + (s+2)^2$$

$$2 + 3s^2 + 18s + 12 = ABs^2 - 12A + 3Bs - 6B - Cs + 4s + 4$$

$$3A + C = 3$$

$$3B + 4C = 12$$

$$-12A - 6B + 4C = 4$$

from eqn (i)

$$2A - 3 = C$$

from eqn (ii)

$$3B = 12 - 13 \quad 3B = -1 \quad B = -\frac{1}{3}$$

$$\text{eqn (i)} \quad 3A = 3 - C \quad 3A = 3 - 13 \quad A = -\frac{10}{3}$$

$$\frac{CB + 3}{(s+2)^2} = \frac{-\frac{10}{3}}{(s+2)^2} - \frac{1}{3} + \frac{13}{4}$$

$$\frac{CB + 3}{(s+2)^2} = \frac{3s-6}{(s+2)^2} + \frac{13}{4} - \frac{1}{3}$$

$$\therefore y(t) = \frac{1}{12} e^{-3t} - \frac{1}{12} e^{4t} + \frac{13}{4} e^{2t}$$

$$\therefore y(t) = \frac{1}{12} (e^{-3t} + 4e^{4t} - 13e^{2t})$$

B

$$\text{By } dy = 8 \text{ at } t=6, y=2$$

$$\frac{dy}{dt} = 8 \Rightarrow y = \int 8 dy = 8y + C$$

$$L\{8y\} = 8/s$$

$$L\{8y\} = 8/s$$

$$8y(s) - y(0) - 4y(0) = 8/s$$

$$8y(s) - 4y(0) - y(0) = 8/s$$

$$(8-4)y(0) = 8/s + 2$$

$$(s+4)y(s) = \frac{8}{s} L2$$

$$(s+4)y(s) = \frac{8+2s}{s}$$

$$y(s) = \frac{8+2s}{s(s+4)} = \frac{8+2s}{s(s+4)} = \frac{A}{s} + \frac{B}{s+4}$$

$$8+2s = A(s+4) + Bs$$

$$8+2s = As - 4A + Bs$$

$$A+B=2 \quad -4A=8 \quad A=-2$$

$$B=2+2=4$$

$$y(t) = -2 + 4e^{4t}$$

$$t \frac{dy}{dt} - 2 \frac{dy}{dt} + sy = e^{2t} \text{ at } y(0) = 1$$

$$L\left\{t \frac{dy}{dt}\right\} = s^2 y(s) + sy(s) + y(s)$$

$$L\left\{t \frac{dy}{dt}\right\} = -2sy(s) + 2y(s)$$

$$L\{syy\} = sy(s)$$

$$L\{e^{2t}\} = \frac{1}{s-2}$$

$$s^2 y(s) - sy(s) = y(s) - 2sy(s) + 2y(s) + sy(s)$$

$$s^2 y(s) - 2sy(s) + sy(s) = \frac{1}{s-2} + 4 = 1$$

$$(s^2 - 2s + 1)y(s) = \frac{1}{s-2} + 2s - 3$$

$$y(s) (s^2 - 2s + 1) = \frac{s-2}{(s-2)}$$

$$y(s) = \frac{1 + 2s^2 - 5 + 6}{(s-2)(s^2 - 2s + 1)}$$

$$(s-2)(s^2 - 2s + 1)$$

$$\frac{2s^2 - 7s + 7}{(s-2)(s^2 - 2s + 5)} = \frac{A}{s-2} + \frac{Bs + C}{s^2 - 2s + 5}$$

$$2s^2 - 7s + 7 = A(s^2 - 2s + 5) + (Bs + C)(s - 2)$$

$$2s^2 - 7s + 7 = As^2 - 2As + 5A + Bs^2 - 2Bs + Cs - 2C$$

$$A + B = 2$$

$$-2A - 2B + C = -7$$

$$5A - 2C = 7$$

from eqn (1) $B = 2 - A$

from (2) $-2A - 2(2 - A) + C = -7 \rightarrow -2A - 4 + 2A + C = -7$

$$C = -3$$

from (3) $5A - 2(-3) = 7 \rightarrow 5A = 7 - 6 \rightarrow A = \frac{1}{5}$

$$A + B = 2 \rightarrow \frac{1}{5} + B = 2 \rightarrow B = 2 - \frac{1}{5} = \frac{9}{5}$$

$$\frac{2s^2 - 7s + 7}{(s-2)(s^2 - 2s + 5)} = \frac{\frac{1}{5}}{s-2} + \frac{\frac{9}{5}(s-3)}{s^2 - 2s + 5}$$

$$= \frac{1}{5(s-2)} + \frac{9}{5} \frac{(s-3)}{s^2 - 2s + 5}$$

$$= \frac{1}{5(s-2)} + \frac{9}{5} \frac{(s-1+1)}{(s-1)^2 + 4} - \frac{3 \times \frac{7}{2}}{s^2 - 2s + 5}$$

$$= \frac{1}{5(s-2)} + \frac{9}{5} \frac{(s-1+1)}{(s-1)^2 + 4} - \frac{3 \times \frac{7}{2}}{s^2 - 2s + 5}$$

$$= \frac{1}{5(s-2)} + \frac{9}{5} \frac{(s-1+1)}{(s-1)^2 + 4} - \frac{3}{2} \frac{7}{(s-1)^2 + 4}$$

$$L^{-1} \left\{ \frac{1}{s-2} + \frac{9}{5} \frac{(s-1)}{(s-1)^2 + 2^2} + \frac{1}{2} \frac{7}{(s-1)^2 + 2^2} - \frac{3}{2} \frac{7}{(s-1)^2 + 2^2} \right\}$$

$$g(t) = \frac{1}{2} e^{2t} + \frac{1}{2} e^{-2t} + \frac{1}{2} e^{3t} - \frac{3}{2} e^{3t}$$

$$s^2 y - 6 \frac{dy}{dt} + 8y = e^{3t} \quad z=1, 0, y=0, y=z$$

$$L\{s^2 y - 6 \frac{dy}{dt} + 8y\} = L\{e^{3t}\}$$

$$L\{s^2 y\} - 6L\{s y\} + 8L\{y\} = L\{e^{3t}\}$$

$$L\{s^2 y\} = s^2 Y(s) - s y(0) - y'(0)$$

$$L\{s y\} = s Y(s) - y(0)$$

$$L\{y\} = Y(s)$$

$$s^2 Y(s) - 6s Y(s) + 8Y(s) = \frac{1}{s-3}$$

$$Y(s) (s^2 - 6s + 8) = \frac{1}{s-3}$$

$$Y(s) = \frac{1}{(s-3)(s^2 - 6s + 8)}$$

$$= \frac{A}{s-3} + \frac{B}{s-2} + \frac{C}{s-4}$$

$$1 = A(s-2)(s-4) + B(s-3)(s-4) + C(s-3)(s-2)$$

$$1 = A(s^2 - 6s + 8) + B(s^2 - 7s + 12) + C(s^2 - 5s + 6)$$

$$A + B + C = 0$$

$$-6A - 7B - 5C = 0$$

$$8A + 12B + 6C = 1$$

$$-6A + 12B + 6C = 2$$

$$-3A + 12B - 6C = 3$$

$$8A + 3C = -1$$

$$9A - 3C = 0$$

$$8A - 3C = -5$$

$$A = -1, B = -1$$

$$\text{From } -2-3 = -1$$

$$2s-5 = -1 + s-1$$

$$(s-3)(s^2-5s+8) = s-3 \quad s^2-5s+8$$

$$2s-5 = -1 + s-1$$

$$(s-3)(s^2-5s+8) = s-3 \quad (s-2)(s-4)$$

$$\frac{s-1}{(s-2)(s-4)} = \frac{A}{(s-2)} + \frac{B}{(s-4)}$$

$$s-1 = A(s-4) + B(s-2)$$

$$s-1 = As - 4A + Bs - 2B$$

$$A + B = 1 \quad \dots (1) \quad x-4$$

$$-4A - 2B = -1 \quad \dots (2) \quad x-1$$

$$-4A - 4B = -4$$

$$-4A - 2B = -1$$

$$\sim 2B = -3$$

$$B = -3/2$$

$$A = 7/2$$

$$\frac{s-1}{(s-2)(s-4)} = \frac{7}{2} \frac{1}{s-2} - \frac{3}{2} \frac{1}{s-4}$$

$$(s-3)(s-6)(s) = \frac{1}{s-3} + \frac{7}{s-2} + \frac{3}{s-4}$$

$$\frac{8s-5}{(s-3)(s-6)(s)} = \frac{1}{s-3} + \frac{7}{s-2} + \frac{3}{s-4}$$

$$(s-3)(s-6)(s) = \frac{1}{s-3} + \frac{7}{s-2} + \frac{3}{s-4}$$

$$y(t) = e^{-3t} \left[\frac{1}{2} e^{2t} + \frac{7}{2} e^{2t} + e^{-3t} \right]$$